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1. (A) (1) Explain the difference between Management Accountancy and Financial
Accountancy. 14

(i) Explain in brief the importance of Management Accountancy.
OR
(i)  Write a short note on Tools and Techniques of Management Accountancy. 7

(1)) Prepare a list of important financial statements and discuss any two of them. 7

(B) Select the correct option for the following questions : (Any Four) 4
(1)  Which of the following tools and techniques are not used by management
accountancy ?
(a)  Operating costing
(b) Standard costing
(c) Marginal costing
(d) Budgetary control

(2) Management by Exceptionis
(a) atool of management accountancy.
(b) A method of preparing financial statement.
(c) A part of costing method.
(d) Not any type of accounting method.

(3) The various reports prepared with the method of management accountancy
should be presented to
(a) Various levels of management
(b) Investors, creditors, bankers etc.
(c) Stock exchange of India
(d)  Shareholders

MD-103 9 P.T.O.
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(4) Which of the following methods is not a main tools and techniques of
management accountancy ?
(a)  Unit costing
(b) Standard costing
(c) Historical costing
(d) Marginal costing

(5) Inmanagement accountancy internal audit is to be done -
(a) Voluntary
(b) Compulsory by the auditors nominated by government
(c) Compulsory twice in a year
(d) Compulsory once in a year

(6) To whom, Management Accountancy is most useful ?
(a) Managers
(b) Investors
(c) Creditors
(d)  Shareholders

Following balance extracted from the books of Vinay Limited :
Particulars Amount (%)
Equity share capital of Rs. 100 each 9,00,000
10% Pref. share capital 1,80,000
General Reserve 4,50,000
12% Debentures 3,60,000
Fixed assets 16,60,500
Stock 90,000
Debtors 1,35,000
Bills Receivable 45,000
Cash-Bank balance 90,000
Creditors 67,500
Bank overdraft 45,000
Bills payable 18,000
Pension fund 4,500
Fictitious assets 4,500
Sales (cash sales are 74 of credit sales) 13,50,000

10
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Rate of gross profit on sales 50 % and rate of administration, selling and financial

expenses on gross profit is 33'4% and rate of income tax is 50%. Assuming 360

days a year. Calculate the following ratios and comment with industry ratio given

in brackets.

(i)  Current ratio (2.4:1)
(i1)) Debtors ratio (50 Days)
(ii1) Proprietary ratio (70%)
(iv) Operating ratio (70%)
(v) Net profit ratio (15%)
(vi) Return on capital employed (25%)
OR
(1)  Limitations of Ratio Analysis. 7
(i1)) Explain with illustration any four ratios related to balance sheet. 7
Select the correct option for the following questions : (Any Four) 4
(1) A company has issued Debentures of I 40,000, its Preference share capital
is ¥ 60,000 and Equity share capital is < 4,00,000, then the Capital Gearing
Ratio will be as under :
(a) 25% b)) 5% (c) 15% (d) 10%
(2) Operating ratio of a company is 80%; its sale is I 40,00,000, sales return is
% 4,00,000. If operating expenses are I 2,00,000, find out cost of goods
sold.
(a) %26,80,000 (b) 12,40,000
(c) % 14,40,000 (d) 326,50,000
(3) From the following, which ratio is not profitability ratio ?
(a) Proprietary Ratio (b) Earning per share
(c) Operating Ratio (d) Expense Ratio
(4) While calculating Liquid Ratio, which assets will be excluded from current
assets ?
(a) Stock in trade (b) Debtors
(c) Bills receivables (d) Bank overdraft
(5) Which assets is not included while calculating the Rate of Return on
investment ?
(a) Fictitious (b) Currents (c¢) Fixed (d) Intangible
(6) From the following which ratio is not profitable ratio ?
(a) Gearing Ratio (b) Operating Ratio
(c) Stock Turnover Ratio (d) Expense Ratio
11 P.T.O.
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The Balance Sheets of Madhav Ltd. as on 31-3-2017 and 31-3-2018 are as follows :

Liabilities 31-3-2017 | 31-3-2018 Assets 31-3-2017 | 31-3-2018

Q) (J) Q) Q)
Equity Shares of
10 each 4,00,000| 8,00,000|Goodwill 1,20,000| 1,00,000
10% Red. Pref.
Shares of ¥ 10 each 2,00,000 — Land-Building | 5,20,000| 3,96,000
Plant and
Securities premium 60,000| 50,000 Machinery 3,60,000| 4,72,000
Capital Reserve 40,000,  75,000|Investment 1,60,000
General Reserve 2,80,000| 1,40,000|Stock 2,00,000| 1,80,000
Profit and Loss A/c 70,000| 1,10,000|Debtors 1,04,000| 1,56,000
Bank Overdraft 50,000 — Bank Balance — 1,81,000
Creditors 40,000, 60,000
Proposed Dividend 80,000{ 90,000
Provision for
Taxation 44,000, 60,000
12% Debentures of
3 100 each 2,00,000| 1,00,000
14,64,000/14,85,000 14,64,000(14,85,000

Additional Information :

During the year ending 31% March 2018 :

(1
2
3)

Machinery was purchased for ¥ 1,60,000

Investments are sold at a profit of 20% on its sales proceeds.

During the year, company has redeemed Redeemable preference shares at

5% premium after complying with necessary requirements of Act. For the

purpose of redemption of preference shares, the amount of ¥ 2,00,000 has

been transferred to capital Redemption Reserve.

4

Redeemed One half of the Debentures at ¥ 95 per debenture and the profit

on redemption of debentures has been transferred to Capital Reserve.

12
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(5) Land and Building having an original cost of ¥ 1,20,000 and a written down
value of ¥ 80,000 have been sold for I 1,50,000. Out of the profit on the
sale the capital profit has been transferred to Capital Reserve and the
revenue profit has been credited to Profit and Loss Account.

(6) During the year company has distributed one bonus share for every two
equity shares from Capital Redemption Reserve.

(7) ¥ 50,000 have been paid as tax for the last year and the amount of proposed
dividend of the last year, has also been paid.

From the above information, prepare cash flow statement as per As-3.

Note: All calculations are to be considered as a part of the answer.

OR
(1) Explain the difference between the Fund Flow statement and Cash Flow
statement. 7
(i1)  State the usefulness of cash flow statement. 7
(B) Select the correct option for the following questions : (Any Three) 3

(1) The balance of Depreciation on machine account on 31-3-2017 was
% 5,60,000 and on 31-3-2018 was % 6,00,000. During the Year, a machine
costing ¥ 2,00,000, accumulated depreciation thereon being I 1,20,000 was
sold for ¥ 40,000.

Show the amount of depreciation charged to Profit and Loss Account during
current year.

(a) % 1,60,000 (b) 80,000

(c) 40,000 (d) < 1,20,000

(2) Provision for taxation was ¥ 90,000 on 31-3-2017 and X 60,000 on
31-3-2018. Income tax of ¥ 50,000 was paid during the year. Then how
much provision for taxation should be made during the year ?

(a) 20,000 (b) 50,000
(c) 60,000 (d) 90,000

(3) Which of the following items is not a cash inflow ?

(a) Repayment of loans and debentures.
(b) Earning operating profit.
(c) Sale of fixed assets or investment.

(d) Borrowings or incurring any liability.
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(4)  Which of the following statements is correct ?
(a) Cash Flow decreases due to increase in current assets.
(b) Cash Flow decreases due to decrease in current liabilities.
(c) Cash Flow decreases due to decrease in current assets.
(d) Cash Flow increases due to increase in current assets.
(5) Which of the following statements is not correct ?
(a) Case or bank balance will be considered while preparing cash flow
statement.
(b) If current liability increases, it increases cash flow.
(c) If current asset decreases, it increases cash flow.
(d) If current asset increases, it reduces cash flow.

4.  (A) Prepare Cash Budget from the following information for the month of March to

May 2018.
Month Sales Closing stock | Total Overhead
(€9 69 Expenses ()
January 2,00,000 25,000 30,000
February 2,50,000 37,500 37,500
March 3,00,000 62,500 50,000
April 4,00,000 75,000 45,000
May 3,50,000 68,750 50,000
June 3,75,000 62,500 37,500

Additional Information :

(1) Ondt. 01-3-2018 cash balance ¥ 1,25,000.

(2) An old furniture is to be sold for ¥ 75,000 in April 2018.

(3) Assume 60% of total sales are credit sales and 40% of cash sales.
(4) Purchases are made for cash.

(5) Goods are sold at a profit of 33 % % on cost price.

(6) 50% of credit sales are realized in the month following the sales and
remaining 50% in the second month, following the sales.

(7) Income tax paid for I 25,000 in April 2018

(8) Total overhead expenses included monthly fixed overheads expenses of
% 12,500 which is paid in the same month. Variable overhead expenses are
paid in the subsequent month.

(9) A new machine is to be bought ¥ 1,25,000 in April 2018, the payment of
which is made 80% against delivery and the remaining amount in the
subsequent month.

OR
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(1)  The sales manager of Akash company states that the sales of product X for
the coming year would be 1,00,000 Units .Two types of raw material M and
N would be needed to produce this article X. In each unit of this product,
Two units of M and three units of N are required. The opening stock for the
next year are estimated as follows : 7
Finished Goods : 20,000 units
M: 24,000 units ~ N: 30,000 units
The closing stock should be as follows :
Finished Goods: 28,000 units
M : 26,000 units N : 32,000 units

From the details given above, prepare Material Purchase Budget.

(i1)) Define Budgetary Control and state its advantages. 7

(B) Select the correct option for the following questions : (Any Three) 3
(1) A company has the following material budget for the next month :
Sales 21,000 units; Production 21,600 units ; Opening stock of materials
1,200 kg ; Closing stock of materials 1,500 kg ; Usage 3 kg per unit.
What is the material purchase budget for the next month ?
(a) 65,100 kg. (b) 64,500 kg.
(c) 63,300 kg (d) 62,700 kg.

(2)  According to purchase budget Material purchase =
(a) Required Material for production + Closing stock — Opening stock
(b) Required Material for production + Opening stock — Closing stock
(c) Required Material for production
(d) None of the above

(3) Which of the following statements is true in the context of Cash Budget ?
(a) Asitis expensive, small firms cannot adopt it.
(b) It is not possible to decide as to when cash has to be raised with the
help of cash budget.
(c) Itis of no use in planning capital budget plan.

(d) Itis not difficult to estimate cash receipts and payments.
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(4) Which of the following is not a purpose of budgeting ?
(a) Itrequires approval for routine spending.
(b) It establishes prices for internal services.
(c) It communicates management's policies to sub-ordinates.

(d) Budgeting forces advances planning.

(5) Which of the following statements is correct ?
(a) In the budget quantitative as well as monetary figures are given for
the next period.
(b) Budget is a system of putting estimates for the current year based on
figures of previous year.
(c) The task of preparing budget is that of accountant only.
(d)  Only quantitative data are given in the budget.
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